Total Score /20

Year 7 Assessment x o
Algebraic Notation 1 it Simplify these expressions.

| 4
‘ _ _ : _ eFoeFIe+aete <
Find the output in each of these function machine

when the input is 45 : ___Li____ |:|
121+ 3

Name: Hswers

1 mark
45 =——>» +6000 —> C OHS o Write expressions to show each output.
45 ——p —12.5 =—> 292 .5 D X w—
2 marks |
oFind the missing numbers for each of these X 4+ 2 w—>

function machines. S

| b
6 -

—— ° Circle the expressions which equal one
(e ) when a=15.
0.8 —>» et 48 I___l

X —

i ||
X+ 2 — — Yo+ |¥

2 marks

3 marks a _ 15 15 _ a

n

1 mark

oWhat is the inverse function of this machine?

—pl X 84 p— ___81.{_ D

1 mark
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o Complete the missing values. 0

; fvk Mia says that given the same input, both function
4.9 =——siiE T > ’r—-l'* g G machines will always have the same output.

-
A AT B e S S i e AL

R R A T U T T ey
2 e

e = e s L e R E e s e e =

U —> +6

X 3 ;j——r3x+18

: P g
y = =5 — -5 s 25’._ 3 |_ots st amswers hore .
—_— = s (5 x 2) +6 = 15+6 =2

et ehcfiany’ A (5+¢) x 3 =nxz=33D

Work out the value of the expression
1 mark

1T+ 9% _ 95 5
5 5 6 D Find the first three terms of these sequences.

. . n - l 2. 3
o If the value of y increases, what will happen to the ‘== _ | g ¢,
value of the expression? o , ,

| € Wil go wp. ; 4+ 26 26 I:I
Tick the equations that are straight line graphs. S Tarks

Describe a difference between the two sequences.

12-2n: (§ d.e/cmcl;j o Fwos.

on +8 0 1S f/\cho,a}év:ﬁ bj 6
Lol Einre

X+Yy

5

1 mark

1 mark
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Year 7 Assessment I:l X O
Algebraic Notation 2 Simplify these expressions.

Name: _____ FAnswecx 7xd __ 4

Find the output in each of these function machines e 4+ 36+ %¢ - Be 4+ 8e 3 €

when the input is 85
&
8f + 2

85 i 6000 __"'“ GO 35 1 mark
° Write expressions to show each output.
85 — —125 —> 9.5 L—_l
P T WS
Find the missing humbers for each of these LS : ———
function machines. — 24T
| 2 48
IR vy o O
i 2 marks
0.4 ——> et 448 D o Circle the expressions which equal zero
S when a=20.

3 marks

What is the inverse function of this machine? R :
el X [ D —tp ‘ 20 a
=n [ s [

1 mark
1 mark
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o Complete the missing values.

(TR machines will always have the same output.
SRR \ S
—> +6 —> X3 —>6x+18 . “" "
C Give an example to show Mia is wrong.

Covvecx ansSwe S

y 3—’i"’” :""""——11 I::I G: (ax5)+6 =05l
3 marks (o' +6> x5 =775

x=16and y=8

X
Work out the value of the expression s

\

s

2

2

6+% - L4 _ ¢ ¥ 62:2
57 s [

1 mark

If the value of y increases, what will happen to the
value of the expression?

Ewe .
° Tick the equations that are straight line graphs. 1 mark

Glf\, + 2 ;6 UV\.CA"CQS":\j b é) -e,ﬂ.,d/\a 1 mark

_%

- 2 - ...
y=3—x D y=13+9 zr Cing, .

y=52-—'§' [Zl y=4x-+3 I:I I:'

1 mark
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o

Mia says that given the same input, both function

o Find the flrst three terms of these sequences.
O

20

]

Describe a difference between the two sequences.

It goes up bw—2n U5 Aocreariog by 2 eathn

B

1 mark

|

2 marks
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Total Score /20

Year 7/ Assessment
Algebraic Notation 3 o Simplify these expressions

% 3d
Name: ____ Bwéwexs e

-le
Find the output in each of these function machines

when the inputis 105 __ 5.5 D
153 e

105 ——1+700 — 80 5 o Write expressions to show each output. i

et+e+2e-7e+e

05 — —27.5 > 7.5 I:' —
° Find the missing numbers for each of these i e 6 et |
function machines

X+ 5 =——>

o Circle the expressions which equal two Q
when a=15.

° What is the inverse function of this machine? a— 30 30 —a

=0T ] ..‘ 30 B

1 mark
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o Complete the missing values.

T ——— < Mia says that given the same input, both function
| | | machines will always have the same output.
371 +) —> +8 [ X > 12x + 40 —i 8_J_'—*g X J——»
s Give an example to show Mia is wrong.
' . F:’j | l y TL:.Qme oxe. AW W\»f\ M te V\-WM
Y ..........-f ——---0 g - 19 03r Cprre,dc Colukiond .
NZane e | S— Cz ¥ 1) A 8 Lf. B 2 = g 2_
3 marks
x=16and y =38
. X- % 20 X2 = 4o
Work out the value of the expression 331 (12 +8 2 = |:—__|
8 -8 .92 O
- .. = 3 o 1 mark
3 2 = 2 Find the first three te|rms of thesi sequent:%s#

If the value of y increases, what will happen to the e
value of the expression/?

| £ goes Aowu. vecaune Yo are ___:] | |7 | 77 I:I
mk.:\/ﬁ WAL OV & @\&Jw . D . T 2 marks

o Tick the equations that are straight line graphs. Tmac’ ~ Describe a difierence between the two sequences.
5-2n - The terms arg dccrcauv?

bJ ) Cmdm‘hw :

1 mark

Bs2 @ The Terms are w\cme,o&u@
l@ 5 eatn time .

1 mark
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